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QUESTION 1

A company has upgraded all of the models and packages to use Dynamic Query Mode (DQM). There is a report that
must reference query subjects from two different packages.

How can this be accomplished?
A. The report author cannot create reports against multiple packages.
B. The report author can add multiple packages as Data sources and write the report appropriately.

C. The report author must use SQL nodes for all queries that reference the different query subjects and join them
appropriately to get the desired results.

D. The report author must use one SQL node of the queries and the package for the other query and join them
appropriately to get the desired results.

Correct Answer: B

QUESTION 2
A company would like to implement their own corporate style across all reports using a single Report as a reference. A

requirement is to display the year of the data selected in the report in the header. The year is not being resolved
correctly as shown below: How can the problem with this report be resolved?
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OK Cancel

A. The component reference has to be overwritten with a new defined "My Header Title" inside the new report.
B. The component reference has to be overwritten with a new defined "MyYear Singleton" inside the new report.
C. A component reference cannot contain a Singleton. The "Corporate Layout Reference" report has to be changed.

D. A component reference cannot contain a Singleton. The reference cannot be used and the header has to be created
manually.

Correct Answer: B

QUESTION 3

A report author would like to create multiple variable connections in a report that contains one control and two Lists in
order to compare data.

Which statement is true?
A. It is not possible to create two connections unless there are two different controls and two Lists.
B. The report author should be able to create two connections only if the values have the same data type.

C. The report author should be able to create one or more connections but the variable\\'s Behavior should be the

Latest C2090-621 Dumps | C2090-621 PDF Dumps | C2090-621 Braindumps 3/4


https://www.pass4itsure.com/c2090-621.html
https://www.pass4itsure.com/c2090-621.html
https://www.pass4itsure.com/c2090-621.html

. VCE & PDF https://www.pass4itsure.com/c2090-621.html
a 2024 Latest passditsure C2090-621 PDF and VCE dumps Download

— PassditSure.com

same.

D. The report author should be able to create multiple connections on one control by creating new connections, both
variables can also show different Behavior.

Correct Answer: D

QUESTION 4

A report author has applied one style in specific cells, and another style for the overall report.
Which style will be applied?

A. The style on the specific cell is applied.

B. The style on the overall report is applied.

C. The last style in the Conditional styles property is applied.

D. The first style in the Conditional styles property is applied.

Correct Answer: C

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEP7J_8.4.0/
com.ibm.swg.im.cognos.ug_rptstd_fin.8.4.0.doc/ ug_rptstd_fin_id3759cr_rptstd_modrep_highlight_data_con.html

QUESTION 5

An author has finished working on a Dashboard and wants to make it available to other authors.
Where should the Dashboard be located?

A. My content folder

B. Team content folder

C. Administration console, Mobile tab

D. Administration console, Library tab

Correct Answer: B
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